The Natural Base e

Lesson 6.2




Bison

http://www.nps.gov/yell/learn/photosmultimedia/indepth-bison.htm



http://www.nps.gov/yell/learn/photosmultimedia/indepth-bison.htm
http://www.nps.gov/yell/learn/photosmultimedia/indepth-bison.htm
http://www.nps.gov/yell/learn/photosmultimedia/indepth-bison.htm

0.9

d%/ﬁ’b

e%(76>

/69354
195, Q¥ SO

0 9 %00*

250 7

200 -
150 +

100 -

50 -

Number of Bison

0

@

™

1900 1902 190

L]

L]

4 1906 1

Al L)

Year

L)

Source: http://www.nature.com/scitable/knowledge/library/an-introduction-to-population-growth-84225544

L)

908 1910 1912 1914 1916



http://www.nature.com/scitable/knowledge/library/an-introduction-to-population-growth-84225544

The Natural Base e

X 10! 104 103 104 10° 106

(1 - ) 2.59374 2.70481 2.71692 2. 71815 2.71827 2.71828
AY ——

e=x=2.71828182846 - Ly; €
——————— =




Simplity each expression.
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Natural Base Functions

A function of the form y = ae™ is called a natural base exponential function.
* When a > 0 and r > 0, the function is an exponential growth function.
* When ¢ > 0 and r < 0, the function is an exponential decay function.

The graphs of the basic functions y = e* and y = ¢~ are shown.
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Tell whether each function represents
exponential growth or exponential decay.
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Continuously Compounded Interest

When interest is compounded continuously, the
amount A in an account after t years is given by the

formula
A = Pe™

where P is the and r is the annual interest rate
expressed as a decimal.
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55000 is invested aA% interest $5000 is invested at 4% interest
rate compounded quarterly. Find rate compounded continuously.
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